2014 ~ 2015 ErR =

$£45 TA(M)—4 U—8 (E=EvyF-8A#l-15-5-15) ZF1E0

BAER 2014. 5. 11(A) =5 50 E TAREYTF

F—L% *t B F—L%
®E1HE 9:00~ {EEFC 3 — 0 BEMERYvyh—
HoAA 9:40~ HEHEFC 1 — 0 AFFC
#3HE 10:20~ ZFHALIY 3 — 0 TEEFC
FARKE 11:00~ BFFC 1 — 0 BEMRYvh—
B5:4A 11:40~ {EEFC 4 — 0 mEHEFC
ey 12:20~ FMLTY 4 — 1 BEMEYyh—
F£758E 13:00~ FHEYvYH— 1 — 0 EEEXyh—X
%8 A 13:40~ FHEFHvh— 1 — 0 STy
FIHA 14:20~ WEEXYH—X 3 — 2 FEHYvHh—
$£10:84 15:00~  #IFE Y vHh— 7 — 1 AFc ASUMA
#E11:44 15:50~ FFHvH— 10 — 0 AFc ASUMA




